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T, T
3.5°]EE3.5—12.x
wx=20




3. o2 oA AABC ADEF Y W, AABC 2} ADEF 2] Ed|9] 2
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o] do|e}t LA'C'B’ &) 2717

'V/
v
\
\
12em
)
C / __vbL_ C’
4cmd \
B 6cm f
@ 16cm, 50° @ 16cm, 52° ® 17cm, 52°

@ 18cm, 50° (@)ISCm, 52°

S5 \
AB :A'B' =VC :V'C"

4:6=12: V'C",

4V'C =72, V'C’ = 18(cm)
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10. oS Fold 2102 AABCO ADEF ¢l A$-2 5 12
27H)

(Q)AB :DE=AC :DF = BC : EF

® AB :DE =BC :EF, /A=/D

® AB = 2DE, BC = 2EF, /ABC = 2/DEF
@ AC =DF, BC =EF

@AAZZD, /B =/E

@ di-s3t= Al ®lo] doje] v7t o B2 SSS s,
® Hest= F 49 2717 ELER AA He




11. t}2 T4 AD ©] Zo|& otoizt

~-16cm-~"D9cm” C

>
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AABD £} ACBA 9|4

AB:CB=BD:BA=4:5

/ABD = /CBA

.. AABD @0 ACBA(SASH-)

AB:CB=AD:CA

4:5=AD:15

5AD = 60, AD = 12(cm)
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BC:DE=1:390|2&
x:6=1:3

v x=2




13. o 1™l BC 9| dol=?

@ 7.5cm @ 10.5cm @ 12.5cm

@ 15cm ®)}18cm
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AABD ¢} AACB of| A
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AB:AE=AC:AD, /A EZEo|EE
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AB:DB=8:4=2:10|E&
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2:1=(4+CD):5
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e Fofoler.
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20. g 29 22 AZAIZIE ABC oA
X2 4y? 9] e Fotolel.

D 200 @ 300 (3)400
@ 500 ® 600

B ‘
AC'=0TD.-CB

152 = 9(x + 9)

225 = 9x + 81

Sx=16

AD = BD.-CD

y?=16-9=225

" x2 +y?% = 256 + 225 = 400




21. o= 2™ o] /A =90° )1 AP ABC & HAH A oA |
BC ol i =49 22 D 2tal & off, AABC ¢ Ho]=?

A
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AADB 2} ACDA 7} 520171 62 — BDx4 o]}, wab BD = 9
o]BE AABC 9] o] 13 x 6 x % _ 39 o]},
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22. o5 192 3449 ABC o BAH A LB
1 1

2 Aolty. BE=38, CF =10, DB =16 ¢ d, x ¢] 3t2?

o

® 16 @ 18 3)20 @ 22 ® 23

B ~
(DEF = /DAF = 60°

(BDE + /BED = 120°

(BED + /FEC = 120°

/BDE = /FEC ---Q

/B=/,C ---©

@, ©°l 93] ABDE 2 ACEF (AA B-3)
BD:CE=BE:CF& 16:x=28:10

x=20




23. o3 1% HAZY ABCD ¢4 BE & He Ao
HAD 9191 H ¢ ofl L5 HolS o, x 9] gh2?

ol &9 4Ztgo|B2 EC = EC’ °o|t}.
(ABC’ + /AC’B = /AC'B + /EC'D = 90°
= (ABC' = /EC'D ---Q
/A=/D=90°---©

A, Ol 9l AABC’ 2 ADC’E
AB:DC’'=BC’': C’E°|E2 16:8=x: 10
x=20




24. & I3t Zo] A ABCD oA ZAAE B 7FAD Yo 2=
ARS o, x o 7r2 Fotogzh
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~&B

(AB'E + /AEB’ = 90°, /AB’E + (DB'C = 90° °]|B &
(AEB’ = /DB’'C

w2tA AAB'E 2} ADCB’ ol 4]

/A = /D =90°, /AEB’ = /DB'Co|E2

AAB'E ADCB’ (AA H)

AB' :DC=3:9=4:(x-3)

36 =3(x—3) Lx=15




25. o= I™I o] A4 ABC o H3H A

AZHE BC 19 A E o =8 AT
BD = 8m , BE = 5cm , EC = 10cm ¥ D'/ \\\
o, AF o] ZolE Fo}w? \
8(3m
@ )% ® 7 B
8cm Zcm cm Sem B~ ~10cm -~
25
@ Zcm ® 6cm

Q

~&B

(A = /B = /C = /DEF = 60°

/BDE = /CEF

ABDE @ ACEF(AAR-S)
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e

5
AABC 7} AAHzZHdol 22 AB = BC = CA o],

S
rE
1o
i)
1O
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26. O]—E]] _:I_%]Oﬂ/d E = 3CII’1, % = 4C1’I1, TC = 5cm ?:‘_1 HH, 731/\]-7_],"551
DBFE 9] st ¥ 9] Zo|& 1a}H?

® 2cm ©) =iy 3 LU
@ Sem ® 1lcm
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AABCAADE (AA H3)0|B=2
AD . AD — BC : DE
4x}213 <) & 99l DE & a (cm) 27 5H
3:(3-a)=4:a
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27. o2 29"} Zo] 1A =90°91 Az ABCOA H Mol BC 9

F3olx, AHLBC, AMLHI & o], AT 9] Zo]& F5}H?

2
A

A M2 H2iage gyolnz AN =
AABH®ACAH ©|B& AR =12 x 3
AH=6
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28. o2 I3} 2ol ZAM4E ABCDE B2 BDE e
1

@ 7cm @)7.5cm ® 8cm
@ 8.5cm ® 9cm

A o7 5}o

~&B

DABCD & Aol B R

AB=DC = 0D = 12cm , AD = BC = BC’ = 16cm
i) /AEB = /C’ED , /A = 2/C’ = 90°

AB=CD

. AAEB = AC’ED (ASA 3H5)

i

,_x

BF = —DB = 10cm

iii) 2C’ BD% 3%, /EFB = /DC'B = 90°
..AEFB ADC'B (AA E9)
10:16 = EF : 12

—— 15

. EF = 5 = = 7.5(cm)

gtEol = rgo] 2oz EB = ED ©|2& AEBD
HAMZH o},

i) o] THAAY L] ER A U Yo A2 F
SR oG EstE =
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o 2l 549 92 27HE, F e & o, x 9] 32 Fohu?

==X =~ D
//’/ NS
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/ cmy \
/ ]
/
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L
B E C

@120m @ 13cm ® l4cm ® 15cm ® 16cm

B

DABCD+ B3 Aol n =

(B = /D, /AEB = /AFD = 90°

. AABE & AADF (AA a n)
AE:AF=6:8=3:4°0]BE29:x=3:4
Lx=12




30. o= I™NA x o ke Fstefet

\VARR 4
0
L

9cm

B

AABC @ AHBA(AA H-)
AB :HB = BC :BA
6:3=3+x):6

36 =94 3x, x =9cm




